Im= cm,

1mi= cmd,

Im= dm,

1mi= am?,

ldm=__cm
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1L= cm?®
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1. ERE&428cm, E15cm, m20cm. ©HIEFE L bemd?

2. FREA&RE28cm, E15cm, &20cm. EREELEL/DL?

3. EAEE28cm, ®E15cm, =20cm. ERIAFELEZ/bme?

4, EBFREHE28cm, E15cm, H20cm. EREREEZ/bmI?

5. JKFEA80cmE, 60cm¥L, /K IR 5 /& 40cm. UEUEAE AR K 143 200 cmBf 7K AN,
A e KGN 1 2 /bem3? ( )
A e KGN 1 2 /bL? ( )
A B KGN 1 2 /b m3? ( )
A [ 7K 0 2 % /b em3? ( )
o K R T v BE 38 I 7 %2 Zbem? ( )
o 7K PR T v B2 3 I 31 22 /b em? ( )
st K PR VR T v EE 384 I 22 2 em? ( )




